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Solving with Parenthesis Name:
Solve each problem. Answers
1) (12x8)+4=
1.
2) (25 = 5)X 2=
2.
3) (8 + 3) -5=
3.
4) (21x14)+7=
4,
5) (48+6)+10=
5.
6) (5 X 3) +4=
6.
7) (8 + 8))( 2=
7.
8 (8x8)+3=
8.
9 (11-4)x7=
9.
10) (12-10)x 9=
10.
11) (12-6)+2=
11.
12) (8 - 3) +9=
12.
13) (20-8)+ 4=
13.
14) (24-12)+6=
14,
15 (20+5)+8=
15.
16) (6x7)+5=
16.
17) (4 + 4))( 3=
17.
18) (8 X ]_2)— 4=
18.
19 Tx9)-7=
) ) 19.
20 7-5)+6=
) 7-9) 20.
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Solving with Parenthesis Name. Answer Key
Solve each problem. Answers
1) (12x8)+4= 1 24
2) (25+5)x2= 2 10
3) (8+3)-5= N 6
4) (21x14)+ 7= 4 42
5) (48+6)+10= . 18
6) (5x3)+4= 6. 19
7) (8+8)x2= . 32
8 (8x8)+3= X 67
9) (11-4)x7= o 49
10) (12-10)x 9= 10. 18
11) (12-6):2= 11 3
12) (8-3)+9= 12 14
13) (20-8)+4= 13. 3
14) (24-12)+6= 14, 2
15) (20+5)+8= 15, 12
16) (6x7)+5= 16. 47
17) (4+4)x 3= 17, 24
18) (8x12)= 4= 18, 24
19) (7x9)-7= 19, 56
20) (7-5)+6= 20. 8
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Solving with Parenthesis Name:
Solve each problem. Answers
1) (12x8)+4=
1.
2) (25 = 5)X 2=
2.
3) (8 + 3) -5=
3.
4) (21x14)+7=
4,
5) (48+6)+10=
5.
6) (5 X 3) + 4=
6.
7) (8+8)x2=
7.
8 (8x8)+3=
8.
9 (11-4)x7=
9.
10) (12-10)x 9=
10.
11) (12-6)+2=
11.
12) (8 - 3) +9=
12.
13) (20-8)+ 4=
13.
14) (24-12)+ 6=
14,
15 (20+5)+8=
15.
16) (6x7)+5=
16.
17) (4 + 4))( 3=
17.
18) (8 X ]_2)— 4=
18.
19 Tx9)-7=
) ) 19.
20 7-5)+6=
) 7-9) 20.
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